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”; This graph shows the speed of a windsurfer, 5, as a function of t; : -
IS Speed of a Windsurfar .
= ! e a) How long did the windsurfin 4
ol ! 111 . last? D secc nd$

f - b) How long was the windsurfer's
' speed 45km/h?
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4. This is a graph of the function
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u) Determine the value of v when the x value is -2.
b} Determine the value of x when the vy value is -1.
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' 6. |
F ax)=3(x-2)+5  wx)=-15x+7 mx)=5%'-9  h=12x-11 !

b) 1(x) =862 c) a(10) d)  hi100)

a) a(x) = 68

- E = —15x + 1
a5Y=3(x-2) :Z ek -lllsfx r o -1 al)=3x-2)45|h0)= Lx =M
68 =3(x-2)%5 T2 = ali8)=3(-2)4% = 1(j0)~ M
bﬁ:g 2x-b +5 ges = -15% a(‘ﬂ:g(g\]]-s h(ioe) = 5 3

+le * —
63 3% -6 §7 = % alin)= 44 9 ) = ¢
b9 = 3??‘ alie) = (i) = 3
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a ()=3(x-2+5 (b)) =5x -9 2%% v
=d(x=-2)4 Mmix )= JX " . = S
\ SMH‘FW‘? & h(x) = Lx ( m"’)i{s\%z

al(5)=3(6-2)15

» mi) = 9¢p -9 ) = |6 - = . |
G+ 5 \ | 0 W(®) = 151 ( gy = 128 vl
ml® = e :

A g7, N30) = 1
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